
 
 
 
 
Segment Addition Postulate. Solve x

1)  AC = , AB = x, and BC = x.
Find x.

2)  Find x if BC = x, AC = , 
and AB = x.

3)  Find x if BC = x, AB = , 
and AC = x.

4)  BC = x, AB = , and AC = x.
Find x.

5)  AB = x, BC = x, and AC = .
Find x.

6)  Find x if AB = x, AC = , and BC = x.

7)  Find x if BC = x, AC = x, 
and AB = .

8)  Find x if AB = x, BC = , 
and AC = x.

9)  Find x if AB = x, AC = , 
and BC = x.

10)  AC = x, BC = , and AB = x.
Find x.



Answers to 

1)   2)   3)  
4)   5)   6)  
7)   8)   9)  
10)  




